

On the Nishimura's Identity Involving Stirling Numbers

¹J. Yaljá Montiel-Pérez and ²J. López-Bonilla

¹Centro De Investigación En Computación, Instituto Politécnico Nacional,
²ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We employ the Nishimura's formula to obtain values of Stirling numbers of the second kind.

Key words: Stirling numbers - Nishimura's identity - Combinatorial expressions

INTRODUCTION

Nishimura [1] deduced the following identity for n odd and k even, $n > k$:

$$2 k! S_n^{[k]} = \sum_{r=0}^{\frac{n-k-1}{2}} R(r) \binom{k+2r}{k-1} (k+2r+1)! S_n^{[k+2r+1]}, R(r) = \frac{2}{r+1} (2^{2r+2} - 1) B_{2r+2}, \quad (1)$$

Involving Bernoulli and Stirling numbers of the second kind [2-7]:

$$B_0 = 1, B_1 = -\frac{1}{2}, B_2 = \frac{1}{6}, B_4 = B_8 = -\frac{1}{30}, B_6 = \frac{1}{42}, \dots, \quad (2)$$

Therefore:

$$R(0) = 1, R(1) = -\frac{1}{2}, R(2) = 1, R(3) = -\frac{17}{4}, R(4) = 31, \dots \quad (3)$$

Hence from (1) for $k = n - 1$ and (3):

$$2 (n - 1)! S_n^{[n-1]} = R(0) \binom{n-1}{n-2} n! S_n^{[n]} \therefore S_n^{[n-1]} = \frac{n}{2} (n - 1) = \binom{n}{2}, \quad (4)$$

In agreement with [2, 5, 8]. We know the relation:

$$S_n^{[n-2]} = \frac{n}{24} (n - 1)(n - 2)(3n - 5) = \frac{1}{4} \binom{n}{3} (3n - 5) = \binom{n}{3} + 3 \binom{n}{4}, \quad (5)$$

Then we use (1) with $k = n - 3$ and the values (3) and (5) to obtain:

$$2 (n - 3)! S_n^{[n-3]} = R(0) \binom{n-3}{n-4} (n - 2)! S_n^{[n-2]} + R(1) \binom{n-1}{n-4} n! S_n^{[n]},$$

That is [2, 5, 8]:

$$S_n^{[n-3]} = \frac{n}{48} (n - 1)(n - 2)^2 (n - 3)^2 = \frac{1}{2} \binom{n}{4} (n - 2)(n - 3). \quad (6)$$

Similarly, we have the property:

$$S_n^{[n-4]} = \frac{1}{48} \binom{n}{5} (15 n^3 - 150 n^2 + 485 n - 502), \quad (7)$$

Then from (1) for $k = n - 5$ and the expressions (3) and (7):

$$2(n-5)! S_n^{[n-5]} = R(0) \binom{n-5}{n-6} (n-4)! S_n^{[n-4]} + R(1) \binom{n-3}{n-6} (n-2)! S_n^{[n-2]} + R(2) \binom{n-1}{n-6} n! S_n^{[n]},$$

Therefore [2, 5, 8]:

$$S_n^{[n-5]} = \frac{1}{16} \binom{n}{6} (n-4)(n-5)(3n^2 - 23n + 38). \quad (8)$$

Thus with this process we can calculate $S_n^{[n-7]}, S_n^{[n-9]}, \dots$, if we know $S_n^{[n-6]}, S_n^{[n-8]}, \dots$

REFERENCES

1. Nishimura, O., 2019. A formula on Stirling numbers of the second kind and its application to the unstable K-theory of stunted complex projective spaces, arXiv: 1906.00384v2 [math.CO] 20 Jun 2019.
2. Comtet, L., 1974. Advanced combinatorics. The art of finite and infinite expansions, D. Reidel Pub., Dordrecht, Holland.
3. Ch. A. Charalambides, 2002. Enumerative combinatorics, Chapman & Hall / CRC, New York.
4. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London.
5. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
6. López-Bonilla, J., A. Lucas-Bravo and S. Vidal-Beltrán, 2017. An identity involving Stirling numbers, Comput. Appl. Math. Sci., 2(2): 16-17.
7. López-Bonilla, J., J. Yaljá Montiel-Pérez and O. Salas-Torres, 2018. Some identities for Stirling numbers, Comput. Appl. Math. Sci., 3(2): 13-14.
8. Knuth, D.E., 2003. Selected papers on Discrete Mathematics, CSLI Lecture Notes, No. 106.